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Eleven Plus Verbal Reasoning Worksheet - WORD CONNECTIONS

QUESTION
In the following question there is the SAME connection between
vAg the word outside each set of brackets and one word inside each
<lp(v>&> set of brackets. You must find this same connection and then
write out the TWO words.
Flower is to ( garden, water, pollen) as wheat is to ( cereal,
barley, field )
HOW TODOIT
There is the same connection between the words outside each
Q set of brackets and one of the words from inside each set of
brackets. Choose one word from each set of brackets to
complete the sentence in the best way.
HINT

N

They may be opposites, have a similar meaning or be a natural
pair. First decide what type of connection there could be in the
first part of the sentence, then look at the second part of the
sentence.

e.g. laugh is to (cry, chuckle, grin) as tall is to (tree, wide, short).

Cry is opposite to laugh and Short is opposite to tall.

ANSWER

GARDEN, FIELD
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